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Cuadro 20 (continuación 4)/Table 20 (continued 4)
Uruguay: tablas abreviadas de mortalidada

Uruguay: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.024 0.024  100 000  2 375  98 005 0.975 b 6 891 352 68.9
1 4 0.001 0.004  97 625   351  389 591 0.997 c 6 793 348 69.6
5 5 0.000 0.002  97 274   185  485 908 0.998 6 403 757 65.8

10 5 0.000 0.002  97 089   233  484 865 0.997 5 917 848 61.0
15 5 0.001 0.004  96 857   435  483 196 0.995 5 432 983 56.1
20 5 0.001 0.006  96 422   608  480 588 0.993 4 949 788 51.3
25 5 0.001 0.007  95 814   647  477 450 0.993 4 469 200 46.6
30 5 0.002 0.008  95 166   768  473 912 0.990 3 991 750 41.9
35 5 0.002 0.011  94 398  1 075  469 304 0.985 3 517 838 37.3
40 5 0.004 0.018  93 323  1 675  462 428 0.976 3 048 534 32.7
45 5 0.006 0.030  91 648  2 739  451 394 0.959 2 586 106 28.2
50 5 0.011 0.052  88 910  4 597  433 056 0.935 2 134 711 24.0
55 5 0.016 0.078  84 313  6 588  405 093 0.904 1 701 656 20.2
60 5 0.024 0.115  77 724  8 916  366 333 0.859 1 296 563 16.7
65 5 0.037 0.170  68 809  11 727  314 726 0.796  930 230 13.5
70 5 0.056 0.245  57 081  13 977  250 464 0.711  615 505 10.8
75 5 0.084 0.348  43 104  15 009  177 997 0.604  365 041 8.5
80 5 0.124 0.469  28 095  13 174  107 538 0.490  187 044 6.7
85 5 0.172 0.589  14 920  8 781  52 650 0.380  79 506 5.3
90 5 0.227 0.695  6 140  4 269  20 026 0.284  26 856 4.4
95 5 0.288 0.782  1 871  1 463  5 697 0.166 d  6 829 3.7

100 ω 0.360 1.000   408   408  1 132  1 132 2.8
Mujeres/Females

0 1 0.019 0.019  100 000  1 875  98 437 0.980 b 7 638 987 76.4
1 4 0.001 0.003  98 125   300  391 729 0.997 c 7 540 550 76.8
5 5 0.000 0.001  97 825   130  488 801 0.999 7 148 821 73.1

10 5 0.000 0.001  97 695   142  488 123 0.998 6 660 020 68.2
15 5 0.000 0.002  97 554   217  487 227 0.998 6 171 897 63.3
20 5 0.001 0.003  97 337   255  486 047 0.997 5 684 670 58.4
25 5 0.001 0.003  97 082   330  484 585 0.996 5 198 623 53.5
30 5 0.001 0.005  96 752   461  482 609 0.994 4 714 038 48.7
35 5 0.001 0.007  96 291   684  479 747 0.991 4 231 429 43.9
40 5 0.002 0.011  95 607  1 023  475 480 0.987 3 751 683 39.2
45 5 0.003 0.016  94 585  1 488  469 203 0.980 3 276 202 34.6
50 5 0.005 0.024  93 096  2 192  460 003 0.971 2 806 999 30.2
55 5 0.007 0.034  90 905  3 133  446 691 0.957 2 346 996 25.8
60 5 0.011 0.052  87 772  4 523  427 550 0.933 1 900 305 21.7
65 5 0.017 0.083  83 248  6 881  399 039 0.893 1 472 755 17.7
70 5 0.028 0.133  76 367  10 175  356 401 0.828 1 073 715 14.1
75 5 0.049 0.217  66 193  14 376  295 025 0.724  717 314 10.8
80 5 0.085 0.350  51 817  18 153  213 702 0.593  422 289 8.1
85 5 0.133 0.495  33 664  16 656  126 680 0.458  208 587 6.2
90 5 0.194 0.634  17 008  10 791  58 063 0.334  81 907 4.8
95 5 0.264 0.751  6 217  4 667  19 419 0.186 d  23 844 3.8

100 ω 0.350 1.000  1 550  1 550  4 425  4 425 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


